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ENGLISH LANGUAGE

May you live happily and long !
In very formal English, what does this
express ?

(A) Desire

(B) Approval

(C) Happiness

AD) Wish

Which of the following is more polite

as arequest ? ‘

(A) Will you
scooter ?

lend me your

(B) Would you "Iend me your

¢ scooter, please ?

(C) Can you lend me your scooter,

please ? _
(D) Shall | take your scooter
" onloan?

What does the following sentence

réally mean ?

He has been sleeping for five hours.
(A) FHeis sleeping on for hours. |
(B) He has lost sénse oftime.

(C) And he is still sleeping.

(D) ' And he will not wake up now.,

do you wish to see ?
wishes to see you'?
(Fillin the blanks)

(A)  Whom, Who
(B) Who, Who
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B

A

AC)

D)

(C) Whose, Who
D) Who, Whom

Only graduates are eligible

this post.You must apply the

Registrar for filing your application.
The Re‘gisirar’s office is adjacent |
the Commissioner’s,
(Fill in the blanks)
(A) to, for, with
(B) in,to, along
for, with, to

(D) for, to, to

In the sentencé, The girls sang
songs while the boys played hockey, -
while means :

(A) rAtsome other time

AB)

(C) Atdifferentvenues

Atthe same time

(D) At the same venue

Determine the part of speech of fast
in the following sentences :

| kept the fast for a month, | cannot

_ fast anymore. | ran fast. Still | could

not catch the fast train to Bandra.
(A) Verb, adverb, adjective, noun
#B)

(C) Verb, adjective, noun, adverb

‘Noun, verb, adjective, adverb

Noun, verb, adverb, adjective

Contd.
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@)

D)

AB)

" (©)

(D)

(Active) Someone has picked my
pocket. In passive voice, this will
read :

My pocket was picked.
(B)
(€)

Who has picked my pocket ?

Someone’s pocket has been
picked.

My pocket has been picked.

| have not met my brother lately.

A phrase closest to “lately” would be |

(A) in the recent years

(B)
(C)

late in the year

later than last month .

- D) inthe recent past

10. Spot the incorrect sentence below :

(A)
(B)

AC)
(D)

Don't talk so loud.
| can bowl fast.
She is naughtier.

You can only guess.

11.  Whatdoes oughtto in_ the following

sentence suggest ?

“““We ought to love our neighbours.

‘(A) Compulsion and obligation

Moral obligation or desirability

right
Religious commitment to good
life
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Conscientious regard for the -

13.

14..

A

1.

0

AC)
(D)

- (B)

Combine the following simple
senteces into one complex sentence :
He will be late. That is certain.

(A) That will be late for him

certainly.

(B) Certainly he will be late.
(C) It will be certain that is late for
him.

It is certain that he will be late.

We derive nouns from some verbs.
For example, from grieve we
derive grief, from speak we derive
speech, etc. Likewise, form weave

we derive:
A)
(B)

weaving
woven
web
warp
for the bus ?
(Fillin the blank)

have you been waiting

Howilong _

@
you wait and look
©)
(D)

| have been working in this office for
no trouble

you are waiting

you have been waiting

two weeks. |

ﬁ so far.

®

have had
have
had

am having

(B)
(C)
(D)

(Tum over)



. 16. I have had some trouble getting good
stationery. | did shop at two places
but | was disappointed.

~‘was well-stocked.
C (A) Either

(B) Both
/(C) Neither

(D) Each

17. Rewrite the following sentence
beginning with “What......!":
~She is a very clever officer.
Y, (A) _What very clever officer she is.
(B) What a very clever officer she
is.
/(C) What cleverness she has as
' officer ! |
(D) Whata very clever officer she
is ! |
18. Spot the one correct sentence
among the following :
(A) Have | to come to office every
C day ?
}B) It is hard to make you to
understand simple things.
(C) | have known him for a long
time.

(D) Imust 'reply letters promptly.
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19.

20.

B

21,

22.

Ratherthan findinga________to
a problem, some people delight in

findingaproblemtoa .
(Fill in the blanks)

AA) solution

(B) solving

(C) issue

(D) way out

Spot the odd word in the following
group :

(A) Modernity

(B) Moderate -

-

(C) Modernism -
(D) Modern

What do we understand from the

_ following sentence ?.

The areas of town near the river are
liable to flooding.

(A)  These areas are often flooded.
(B) ~These areas are lying Ibw.

(C) These areas need proteétion.

_AD) Therivers flood inthese areas.

In which of the following does just
appear in the correct order ?

"(A) | just have returned from a

wedding in Balasore.

D (B) | have returned just from a

wedding in Balasore.

(C) I‘have returned from just a
wedding in Balasore.

) | have just returned from a
wedding in Balasore.

\G

Contd.
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23.

24.

25.

26.

~(B)

- (©

Their son went off.and got married
last week just like that,

What does just like that mean in this
context ?

(A) Justlike his parents.
(B) Justlike we expected

~AC) Suddenly and unexpectedly

(D) Predictably and wisely

What idiomatic expression conveys
the sense of the general truth of a
statement by disagreeing with it ?

(A) The exception proves the rule.

The rule proves the exception.

Where there is a will, there is a
way.

(©)

Where there is a way, there is
a will.

D
(/)

Life is not measured by the:

number of breaths we take,
but by the moments that take our

breath
/(A)
(B)

away
on
off

(D) after

‘What does this sentence really

mean ?

A book we have not read is no more

non-existent than a country we have

not visited.

(A) Both the book we have read
and the country we have visited
do not exist on earth.
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27.

C

28.

A

29.

D (B)

We have read the book but the
country exists even if we did not
visit it.

We have neither read the book
nor visited the country.

Both the book we haven'’t read
and the country we have not
visited nevertheless exist.

©

| don’t know Mr. Patel’s age but he
seems quite old. What does quite
mean here ?

(A) Silently

_~(B) Looking

(C) Fairly
(D) Notvery

English is different _
German in that the latter is a highly
inflected language..

A
(B)
(C)
(D)
When you cannot see the picture
clearly, yousay:

(A)

from
to
than

since

| unable to see the picture
clearly.

| cannot hardly see the picture
clearly.

| cannot able to see the picture
clearly.

©

(D) 1| can hardly see the picture

clearly.

(Tum over)



30.

31.

32.

AD)

Inflation is like sin, every
government denounces it and every
govemment practises it.

Which of the following readings of
this statement is more or less

correct ?
(A) Inflation is a sin, but a
goverment hardly knows this.
(B) Inflation is notasin, butwhena
government practises it, it
- becomes sinful. |

Inflation is sinful but every
~finds it

2
government

inescapable.
Inflation is least sinful when

(D)

every government practises it.

Which of the following is the correct
word-formation ?

(A) Detest + ible = detestible

(B) Ditest+ able = ditestable

(C) Ditest+eable= ditesteable

D)
A swarm of insects, a flight of birds,
a herd of cattle, a flock of sheep, a

Detest + able = detestable

of wolves.

(A) litter
(B) covey
(C) host

pack
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@. The report implies that there is

severe scarcity of water and food.
Pick out the word that suggests that
the news is not quite explicit or
direct.

(A) Implies

(B) Severe

(C) Scarcity

(D) Report

The boys are tired.

What would be the next logical and

correct sentence ? -

(A) They are playing for aimost two
hours. .

(B) Theywill have played for almost
two hours.

/(0) They have been playing for

_almost two hours.
(D) They will be playing for almost
two hours.

Democratic nations naturally stand
more in need of forms than other
nations, and they naturally respect
them less. |

What do they and them refer to ?
(A) Forms, democratic nations -
(B) Forms, democracies

(C) Democratic nations, forms
(D) Democratic nations, other

nations

Contd.



36. |am verytired.|’'drather — . (C) minute

(A) work more (D) occasion

~(B) nottowork more

41. What _______does it make if you
(C) workanymore Y

’ 2
- (D) notwork anymore don'tbuy acar *

B (A) difference

37. | think I'll wait ——_____ Saturday
before | decide what to do. (B) change
/(A) il | /(-C) matter
D (B) before ' ' (D) advantage
) unt? 42. Spotthe word below that has no plural .
(D) unti | form in English.
38. Therewas —_____ concem apout () Bird
frequent power failure in the city. ' :
(A lotsof | D ® so
B (B) alotof (C) "Flace
(C) agreatdeal of : \(D) Happiness

/(D)  verymuch 43. Put this in direct speech :

39. ________the enqgiry, the official . He asked me whether | would
maintained that nothing illegal had attend that day’s meeting. '
" BTaane. (A) “Will | attend that day’s
C _'/(A) i B meeting ?” He said to me.
" (B) Upon
(B) “Will you attend today's
(C) At -
: meeting ?" He said to me.
(D) Since

(C) “Whether you are attending

40. [shalllook through yourreport when . . _
meeting,” He said to me.
I have a spare

B (A) time

AB) moment

(D) “When will you attend the

meeting ?" He said to me.

NC - 3B/28 (7) (Tumover)
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AA)

Which of the following is an

incorrect sentence ?

(A)  Hariis not used to the English
weather.
(B) Hari is used to speaking

Bangla all the time.
(C) Hariis getting used as living in
Odisha.
(D) Hariis not used to cooking his

own food.

Danny, you're late ! You are going to
missyourtrain,.you____

better hurry up.

(B)
(C)
(D)

will get along quickly
had better hurry
will be delayed

Are we going to the mall if we are

wed better be prepared they dont
take cash we need to pay by card or
paytm in any case we are not
making any big purchases are we.

(Punctuate this utterance correctly)
(A) “Are we going to the mall ?" “If
we are we'd better be prepared
they don't take cash.” We to
need to pay by card or Paytm
in any case we are not making

any big purchases. Are we ?"

NC - 38728

(8)

47.

B

(B) “Are we going to the mall if we
are wed better be prepared
they don't take cash.” We to
need to pay by card or Paytm

~ in any case we are not making

any big purchases.” Are we 7"

(C) “Are we going to the mall ? If
we are, we'd better be
prepared. They don't take
cash. We need to pay by card,
or Paytm. In any case, we are
not making any big purchases,
arewe ?”

“Are we going to the mall ? If
we are we'd better be
prepared. They don't take
cash. We need to pay by card
or Paytm. In any case we are
not making any big purchases,
arewe 7"

Which numerical code arranges the
bits of this sentence coherently ?

(1) To do anything

(i) - The Govemment
(i)  1do not expect
(iv)  Inthis matter
AR) (i), (iv), i), (i)
(B) (i), (i), (i), (iv)
(C) (). (i), (i), (iv)
(D) (iv), (i), (i), (iii)
Contd.
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49.

- singer

Fill in the gaps appropriately with
after, with, in, among, for:

the 1960's Mohammed
Rafi was a superstar |
popular singérs in South Asia.
He was born 1924
Kotla Sultan Singh

Village Punjab.

Rafi was the most sought
the Hindi film
his illustrious

industry,
career, he received six Filmfare
Awards and was honoured

the National Film Award

once.
}\) In, among, in, in, in, For, after,
in, In, with

(B) Among, in, in, in, in, after, in;in,

with, for

(C) For,in,in, In, with, for, after, with

~among |
(D) - In, with, for, In, after, in, among,

~ with, for

To which question would this be an
appropriate answer ?

“No, | won't be available on Mondays
and Thursdays ?”

(A) Are you coming to office on
Mondays and Thursdays ?

NC ~ 3B/28

almost twenty years,

50.

51.

B

/B

Will you be available on
Mondays and Thursdays ?

" (C) Can you be available on

Mondays and Thursdays ?

(D) How available you are on
 Mondays and Thursdays ?

~ Rewrite this sentence beginning with

the phrase, The young man...

The mob lynched the young man
who accompanied the young child
to school. |
(A) The
accompanied the young child
to school the mob was lynched.
(B) The young man
accompanied the young child
was lynched by the school.

(9 The young man who
accompanied the young child
to school was lynched by the
mob. '

young man who

who

(D) The young man lynched by the
mob when accompanied young
child to school. |

It takes cars than ten
boats to ferry them to the destination.
(Fill in the blank)

(A) few
(B) fewer
(C) afew
(D) fewest

(Tum over)
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D

53.

\

Alit and Anil have failed the
Examinations. Neither ____ a

good student at school.
/(A) was

(B) were

(C) been

(D) nor

Rewrite this sentence using let.

Most schools do not allow their

students to leave befdre 4P M.

/(A) Most schools do not let their

students leave before 4 P. M.

Most schools let students stay

(B)
longer than 4 P. M.

Most students do not let their

(©)

" schools leave before 4 P. M.

Most schools do not let stay

(D)
longer than 4 P. M.

Complete the sentence using the

right form of the verb within brackets :

Mahesh .wishes he (live) with hfs
parents in his own ﬂa{,

(A) Maheshwishes that his parents

lived with him in his own flat.

(B) Mahesh wishes that his own flat

for his parents' life.
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55.

C

56.

(10)

(C) Mahesh wishes he lived his

own parents in his flat.
/(D) Mahesh wishes that he lived
with his parents in his own flat.

Identify the sentence that carries the

incorrect phrase :

(A Harish's two sons take after

him.

Harish cannot take on more

(B)

work.

(C) Hafish has taken off in a good
job. |

(l?) Harish is taken ill and won't
come. |

I beg your pardon. When
someone séys so, what is meant is

that
(A) the speaker hasn’t quite heard
| what you said

(B) the speaker hasn't quite

understood what you said
(C) the speaker is apologizing for

some wrong he has done

the speaker has neither heard

nor quite understood you

Contd.



57.

N

58.

59.

“I have very little time,” said my boss.
“Please come to the point.” My boss
wants me

to be brief and start talking
about the matter right away

to beat a.bout the bush rather
than be direct

(B)

to wait a Iittle and come to him
later

(©)

(D) to be less formal and up front

in discussing the matter

Satya has been behaving in
such a way that someday he will
get into trouble. He is, in other
words, |

"
(B)
(C)
(D)
The sign VALET PARKING

in front of a building suggests
that .

(A)

asking trouble to come
asking for trouble
ask after trouble

asking about the trouble

you could expect an attendant
to show you a parking lot

you could expect an attendant

(B)

to park your vehicle for you

(C) you could seek avalet’s helpin

negotiating a car deal
(D) youcould seek a valet’s help at

the parking lot

NC - 3B/28

60. No, I have neverbeen to Sambalpur.

61.

D

(1)

(What appropriate question would

give you this answer ?)
_ (y

(B)

Have you ever been to

Sambalpur ? .

Had you gone ever to
Sambalpur ?
(C) Are you ever going to
Sambalpur ?
(D)

Have you gone ever to

Sambalpur ?

| haven’t seen you in a long time.

Where ?
(A) areyou
(B) _wereyou

/(C) have you gone

(D)

have you been

62. We were not alone in the room. He

A

AA)

sat me; us, there

were two others there.
beside, besides

(B)
(©)

besides, beside
next, between

(D) by, besides,

(Tumover)



63.

2
D

65.

| am not aware of anyone applying

for leave today. If | get to know, | will

inform you at once. (Wn"te this in the

simple past tense.)

(A) | was not aware of anyone
applying for leave yesterda.y. If

| got to know, | would inform you

atonce.

(B) 1 did not know of anyone
applying for leave yesterday. If
| would get to know, | informed

you at once.

(C) lwas notaware of anyone that
applied for leave yesterday. If |
knew, | informed you at once
yesterday.

(D) 1 did' not know of anyone’s
applied for leave atonce. If | got
knowledge, | had informed you

yesterday.

One rolls up one’s sleeve
(Fill in the blank)

(A) tosleep
(B)

-
(C)

(D)

to eat

to beg

to fight

What is the correct meaning of
irrefutable in the following sentence ?

The car was parked on the nght side
of the road. The bus hit the man on

NC - 3B/28
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66.

the road who was walking on the left
side. The driver of the car had
nothing to do with this accident That
is irrefutable. '

(A)
(B)

That which cannot be reversed

That which is impossible to
disprove

(C) That which is impossible to
disapprove

(D) Thatwhich is cannot be faulted

Which of the following is not a

meaning of the word bar ?

(A) A barrier or restriction to action

or advance.

A counter in a pub where

(B)

alcoholic drinks are served.
(C)' Afleshy filament growing from
the- mouth of a fish.
(D) Ametalstrip below the clasp of

amedal.

Direction (Q. Nos. 67-70) : Read the

following passage and answer the given

questions based on this passage :

Koshish (meaning “making an

effort”) started as a student initiative, a

project on homelessness and destitution.

Itwas trying hard to decriminalize begging.

it is shameful that wé have a law that

Contd.



punishes the poor for being poor, with
detention up to 10 years. It is the best

evidence of apathy that we, as a society,

have towards the poor. Huge numbers of

people with mental illness or disability,
victims of violence or displacement, de-
notified tribes, abandoned elders, daily-
wage workers, lepers and others are
puhished every day. Recently, Delhi struck
down the an_ti-begging law, After Delhi, it
is now the legal responsibility of all states
to repeal their anti-beggary law. Pedple
should not be punished for the state’s

failure. That is injustice.

67. What evidence do we have for the

country’s apathy towards the poor ?

(A) Huge numbers of beople are

still poor.

(B) Our laws punish rather than
help the poor.
(C) We have no project for

rehabilitation.
(D) We still have anti-begging law.

68. Howare the illand the poor punished
every day ?
(A) By criminalizing begging and
detaining them in shelters.
(B) By decriminalized begging and

enforced anti-begging.

NC — 3B/28
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69.

70.

(C) By detaining the poor upto 10
years.

(D) Byuneven state laws punishing

us.

What has Delhi done recently ?

(A) It has decided that the anti-
begging law will no longer been

forced.

(B) Ithas pleaded for the repeal of

law relating to begging in
public.

(C) Itwas pleaded for the restitution
of law relating to begging in
public.

(D) Ithas decried the repeal of anti-
begging law in all the states of

India.

What is the state's failure according

to the author ?

(A) The neglect of laws to punish
those whoill-treat the poor.

(B) The neglect of the destitute and
the homeless in the country.

(C) Theslowness in repealing anti-

_beggary law.
(D) The uneven standards of social

justice in the country.

( Tum over)
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1.

72.

73.

C

What distinguishes the largest room
in the first sentence from its use in
the second ?

The largest room in this building can
take ten dining tables and some
forty-odd chairs. Of course the
largest room in the worid is the room
for improvement.
(A) The first refers to physical
space while the second refers

to the metaphorical
(B) Neither room is tangible or real.
in a specific sense. .
(C) Both rooms are large, the
: second larger than the first.
(D) The ﬂrsf refers to metaphorical

space while the second refers
to the physical.

Let's go for a walk,
(Add the right question tag)
Shallwe ? '

Canwe ?

»

(B)
(©)
(D)
John and Jane were two neighboﬁrs

who know each other very well. They
live in the same town.

(Put this in the past tense)

May we 7
Will we ?

(A) John and Jane were two
neighbours who have known
each other very well, They lived
in the same town.

NC - 3B/28
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74,

75.

D

(B) John and Jane were two
neighbours who had known
each other very well. They were
living in the same town.

(C) John and Jane were two
neighbours who knew each
other very well. They lived in the

same town.

(D) John and Jane have been two
neighbours who knew each
other very well. They were living

in the same town.

It's raining heavily. | wish
l an umbrella with me.

(Fill in the blank)

(A) takeaway
took
(C) hadtaken

(D)

have taken

“Is it too early to call up someone on
the phone ? It's already eight O’clock
in the moming,” said my brother.
(Inindirect speech, what would be the
most appropriate reporting verb ?)
(A) Called |
(B) Said

(®)
(D)

Asked
Wondered

Contd.



76.

it

78.

‘organizers

~(©C)

To the question, Why are your

clothes wet ? What would be the

most appropriate answer from

among the following ?

(A) My sister has watered the
garden.

(B)

| have been watering-the
garden.

(C) | watered the garden until my
sister came.

(D) My sister has been watering till
NOW.

A Canteen for Students can alsc.:
be written as : |

A
(8)
(C)
(D)

They organized a party
his honour. ThatAjita was not invited

Student’s Canteen
A Students Canteen
Students Canteen
Students’ Canteen

it was a shame. She
admired him most and it seems
unlikely that she would forgive the
their
(Fillin the blanks)

omission.
(A) at, for, towards
(B) about, at, against
in, to, for

(D) after, on, with

NC — 3B/28

- 79

(15)

80.

81.

(D)
2

I'm done for the day. I'd now
(Fillin the blank.)

(A) gohome

(B) come home

(C) arrive home

back to home

While He hit the dog is a sentence
that makes perfect sense, The dog
he hit makes incomplete sense,

unlesswe add :
(A) Today

(B) Yelped

(C) When

(D) Helped

bun‘ng the summer of 2010 | was in
Kolkata. What would this sentence be
if you changed the year to 2019 ?
(A) During the summer of 2019
| will be in Kolkata.

(B) During the summer of 2019 will
| be in Kolkata.

(C) During the su mrﬁer of 2019
| go to Kolkata.

(D)

During the summer of 2019

| will go to Kolkata.

(Tum over)



82. Fat, fatter, fattest ; fastidious, more

C

fastidious, most fastidious ; fast,

farther, farthest
more fast, most fast

(A)
(=)
/(C)
(D)

faster, fastest
further, furthest

83. The District Collector did not

1>

D

: the office bearers of
the Union his approval for holding
their meeting during office hours.

(Fillin the blank)

(A) allow
AB) grant
(C) .grand
(D) deliver
What is a headline ?
(A) The top line of a page in.a
printed book.
(B) The first line of a paragraph in
a book.
(C) The title of a news programme
onT. V.
/(D) The title of an item in a
newspaper

85. The benefits of demonitization are

moot. What does this statement
mean ? ' |
(A) We do not understand what it
benefits are.
(B) We do not understand what
demonitization is.

NC - 3B/28

(16)

We see the benefits of
demonitization

The benefits of demonitization
are debatable.

(D)

86. Local authorities should submit

the Minister
approval
no circumstance will
direct application regarding schemes
be entertained.  (Fill in the blanks)

- (A
(B
(C)
(D)

schemes
concerned

to, for, under
for, in, upon
about, for, with

over, without, for

87. Choosing matching prepositions to

complete the following phrases :
() According

the source .... (i) of
()" Different ____ |
thefirst draft.... (ii) to
() Based
this information ... (iii) by
(V) Bored _____the
turn of events..... (iv) from
(V) Consisting
cards and letters ... (v) on
Accroding to the code, the correctly
matched pairs would be
(A) 1=ii;H=iv: M =v; IV—ii; V=i
(B) =i =i M =jii; IV =v: V=iV
C) l-v; W=iii; =i IV =i ; V=iv

©) 1=t l=v;i=i; v =iii: V-iv

Contd.



88.

B

89.

90.

91.

)

By this time in 2019, Susan
finished her first
degree in Medicine.

(A)
(B)

will be

will have
might have
(D)

may be

We are in awe of this leader. We

cannot approach him easily. Use the
adjectival form of “approach” and
rewrite the second sentence.

(A)
(B)
(C)

He is hard to be approachable.
He is not easily approachable.
For | him to approach is not
easy.

(D) Heis hardly approachable.

The politician made false claims
and called his honest colleagues
corrupt, but when the facts became
public, he had to eat his words.
What does the last phrase here
mean ?

(A)
(B)
(C)
(D)
None of us to change
the schedule unless some of you

it inconvenient for some
(Fill in the blanks)

To say sorry for his mistake
To confess the truth

To take back what he said
Toswearafalseoath

reason.
A wants, find

NC - 3B/28

(17)

92.

93.

(B) want, finds
(C) wanted, find

(D) want, found

Identify the one word here that you

'cannot use before LITTLE to indicate

that there is only a very small amount

of something :
(A)
(B)
©
(D)

So

Too
Precious
Hardly

If | do not leave now,

(Complete the sentence in the most

sensible way)
(A) my last bus will notgo
/(B) | shall miss my last bus |
(C) my last bus will miss me
" (D) |cannotmiss my last bus
Only _______ cynic would argue
with _______ statement that most

people leam their native language

with fair degree of success.

(Supply articles where necessary)
(A) the,the, a |

(B) a,the,the

(C) the,aa

(D) a,the,a

(Tum over)



- 96.

95. The clerical staff in banks and finance

97.

B

h_

98.

departments are supposed to
have considerable skill with
numbers. In one word, their ability

is
(A)
(B)
(©)
(D)

numerous
numerological
numerational
numerical

What is the meaning of hoard ?

(A) To store secretly

(B) Toconsume secretly

(C) Tofasten by hooking

(D) To pull upwards

There are reports of arson
“and looting in the city. We'd
better be careful. The news is
quite
(A)
(B)
(®)
(D)
Identify the correct sentence from

the following :
(A) They considered him a fool.

(B) Theyregarded him a fool.

distrusting
disturbing
disturbed
distasteful

- _AC) They considered him as a fool.

99.

(D) They regarded him as fool. -

When | reached the cathedral, the
wedding ceremony
already begun.  (Fillin the blank)
(A) has

(B) was
4C) had

(D) is

NC - 3B/28

(18)

100. In reported speech, how will this

D

read ?

-"I do not want to be forced into

believing that God exists,” said the
girl. “If God indeed exists as you
assert, show me, at least once,
where | shall see Him like | see you

now!”

(A) The girtold me that she wanted
not to be forced into believing
God existed, and if indeed He
did not, as | asserted, she
asked to be shown God, at
least once, where she saw Him
like she was seeing me Now.
The girl explained that she be
forced not into believing that
God exists, and if indeed He
does, as | asserted, she |
demands to be shown at least
once, where she would see
Him like she saw me then.

The girltold me that she did not
want to be forced into
believing, and that if indeed
God exists, as | assert, she
demanded to be shown Him, at -
least once, where she would
see Him like she sees me now.

The girl explained that she did
not want to be forced into
believing that God existed, and
if indeed He did, as | asserted,
 she demanded to be shown
Him, at least once, where she
might see Him like she saw me

(B)

(®)

(D)

then.

Contd.



ODIA LANGUAGE

101. Q6 99R YOR UGCR G2l €4 T8ede
94 :
AA) OR
P\ (B)
(C) Q98 AR Q6Q

(D) Q6aTQ AQQR Q6T

102. g6 QoI 990 9dese

(A) Seaqiq e
b (B) Q686 QA
(C) QIRNQAAFT .

D) 6qic @@

103. QA QR QLI |
poy Qeagy
_(B) @sasH
B (C) QeQiq

A, L

(D) 69WG ge

104/ @igua @6l 92 6 §aI 0@ AEA Q161

ARG @ A :

(A) OR

R (B) g
(C) 90 Aad Q6e

(D) 694G @€

NC - 3B/28

105, —_ QINQ Q&I 99 621QQI6Q |
(A) QLRIF
N /(B) Feasy

Vi I Q6996

(D) 6996 g2

106. @8l 92 6 §a[ dQ god FeQdle :
P
FECE
. (C) Feasy '@sﬁaam |

(D) QAdRIF FRQER

A

107. @8I9S Q°aL6Q QIL! FRIdIeN Ll

1
(A) Qeug
- (B)  @exay
(C) QeiTeaas
(b) A4
108, ______' | _, 909 QAMQ 9@ ey
QR4 |
(A) 66159 @1l 9
C (B) eaISq Qal g@
AC) 691N QaIdel YAl 9Q
(D) 6T BaAIdQl Fal 9@

(19) ( Turm over)



109. 632 QUSIeR @EIR AT AGACR Fo
aea adqdn |

(A) = 266

B B asce@

D-

D

-

(C) a@glsa |

(D) 6966 @2

110. JRIC Qag UGB | 98 AN6R ‘Al’ diga
a8QeRa QI
(A) @6l gea Qe
(B) @4l 09q Qo9
(C). @6l 9eQ gos
/D) el 9eq 9ed 6 Qéq '
11, Qi QIRIgNsa oda
QI |
(A) eI
,(B)
(C)

(D)

Qal
([

ana

P

112) z@eas 6 a°aR QI gaIa aie agal

Sol ae6e - J0Ya Q& |
(A) 6918
(B) ga&
(C) G6RI

(D) <I6d

NC - 3B/28

@ QA 99 FRIER RIS AR NG

|
(A) 98 a4
(B) 8 @ 2

(C) @2y Q6e

(D) 6Qu& @€

114. ARIQE RVAIL KR AN QY IR

QPR @Y AL |

66w
68198
6H@E

6QQ6 g%

115. ARIIQE RIFIP P Q18 4QF

B

(20)

Q2900 Qal dQ [
(A esRe
D (B) 6¢@d

(C) ssi@e

/(D) 6&R6Q

116. QAR UG QIR TOIG JQY LPITAR

QA |

(A) agam
(B) afam
AC)

(D)

aaa
QR

Contd.



117. ‘gda’ |4l 9ea god 8 9of fda

@R |
,(A) 929 9Qa 9eeeR
A (B) Q019 Q¥ IeQeR
(C) gas gQu Qgeee
(D) Q914 gQa QLR
118. 699 92 AR
QIRIF [AI S6AIE QRIAN |
(A) 6161
(B) z<ql
AC) géa <l zeal
(D) 998 6 9R

119. ‘O’ Al 99
ded1
(A) @@
B g
D (B) Qg
0 (C) <ew

| (D) <@I9, 98 6 99R
120. ‘Geal’ 30l aeea ‘Gg’
Qa6eQ 2T |
(A)  2AAITR!
(B) QaIde!
(C) 9

D) €dIg@

NC - 3B/28

JeIs 968,

121. NG 64164 Q0% 24 |
/(A) Q66T
(B) @ 6814

B (C) QéQiee Q686!
(D) QUSSP F68T4

122. ‘6GIaQ €8 Q@ IO ?
A) zete |
D ® Qe
al
(C) <ay
(D) 69Q@6 g2
123. ‘Q’govaQ §Q 9EAIFeR
Q Il G e ade g41
(A) Qg
B -
(B) zaaidel
(C) &A@

() €4
o :
(124! ‘cogam’ o aea ‘U’
qo@ GG |
(A) 99€
(B) <9q
(C) 6@€0 ¢

(D) QQE 6 Q6%

(21) ( Turn over)



125

A

126.

. 6dlde Gal aea gan faF ada

Qa Qa9 |
A zaqigel
(B)
(©)

(D)

aqugel

aede

6R96 g2

QYRIQ Al F6494 9@ FL¢
Q|

Pl
(B)
(©)

A

A gA cleR
QUL QI IR

Qe AT Qo

127. ‘@ goya R9IaQ

2 ®

128.

NC

(D) °=-Fxa AR

|
(A) ZIAAER
64996Q

(C) 93

(D) 6@w6 QL

‘e’ @ 990l aeg
A@enrd |

(A)
(B)

(©)

QEREY
QeI
eaIae

D) KRAQQ

/(

- 3B/28

o)

(22)

129. 39l €Q6Q ‘@’ 9@ FIZUCR

A) I

(B)
e

(D)

UM

K

geya

Qeaay

130. 63eIca 6gadide oI 9@
ge4e g9 6210 |

(A) ‘@’ 6’

R B) ‘a’e ‘W

(C) ‘Q’ e ‘Q?

(D) ‘ﬂ) 8 ‘Q’

[lalaly

131. QGea¢ Q@ aeea
I81I‘_<ll |
(A) " 82l
(B) ge&
(C) Beoid
(D) aeaid
P

132. ‘QIRYR’ FaI A6R ‘@I’ 4@
Qal |

(A) QIS
(B) QaIQIee Seagy
/(C) d9Iee Qal

(D) zaqidel Fal

Contd.



133, 4R ARFS 9l | 137. ‘GaInd’ 4 301 99 |
AA)  agel (A) edlde
(B) <@l (B) 4e<
(C) el ~ /(C) 2aadel
(D) <&l (D) awie
134. 6 AR AR F6R, X ARER 138 e 294 Qa AR |
QA L0 | '
(A) 4l
(A) adg Qg
-~ (B) seal
(B) ¥yYMNIAR I
» (C) 9%
(C) geQIee Fal
AD) @R

(D) 69906 ge
139. 64 @262 JRIT 6QNGR | ANER

135, IR 9°dRel 9o@ QIR
5, e 2aqIde [l |
Qa1
- Ay e
(A e9°¢
2 (B) ez
/(B) od d
= (C) 6QleRl
(C) <Qal .
~ D
D) <daml (D) «ees

140. 6Q ZIF Q6Q FIRER | 4 QURYER

136. zaaide Gaq §g8 Qe

Gan 24| ‘R’ 1R aal |
(A) Qa2geQ QUA? (A) QEIQ
/(B) YR 4 (B) 2qg
(C) 49 9@ (C) a4
(D) @@l Jcaad | (D) geQIee
(23) (Tum over)
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‘AREIRI" FAl 996Q ‘6oMI’ 4L

Qal |

AA) 29198 §a
(B) QiRiyQin e
(C) g qa

(D) adig }al

@g/m@claqqa QaIgQ QJQ
62IRaI |

(A) Qo G

(B) <eiae Gal

(C) edlde Qal

(D) 6R9E 92

143. ‘6q lIQQE’ | 4 Qf@qea_‘a’ goua
2diea QPO |

(A) Qaig

(B) QI

(C) ugml

(D), QaIY aqIg

)
' 144, QaI 99 980 649 INA g8 £Y, SIRIp
QLIAIN |
(A) Q9 Fcagd
(B) Q00T
4C) 998 QQ

(D) 989 g

NC - 3B/28 (24)

145. 6d @6@6 628 6B | auISe 990

(A) Qa2 JoR QAT F4
(B) <o goe anidel Ga
(C) 2a°ar 9o Andel G

(D) 2Q°a] 9o QaIdel G

QIRER HPPR 29

146. ‘@’ goya

(A) QaIey
(B) <9IR
(C) zgm
(D) «@Jgqye
147. ‘?, 99geva QIee ______ g
- [ Q00 A°ge 62109I6a |
(A) Qaidel
(B) aeﬁé
(C) Qede
(D) zQaidel
148. 69Q € aI6Q of o AN, QIR

QO QRIAINY |
(A) fade

(B) qese
() 26Q

(D) edgp
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49. ‘¢ - fies? @ Q
1 IRPYL’, FaI996q ‘@’ 9§ 153. 99K @62 | 92 QN FA JeQ QIR
. | ' i
Ada e

(A) 2gy8e gova
(A) QARIQE 21

(B) eigide geva

(B) Qe QAR
(C) agvde Jal

oo (C) QRIRE QQIVYQ
(D) eIgiee ]al
(D) QER AR
150. QIAARIAN @ S6894 606
62IREIN | - 154. ‘20@Q’ @@l 9@ Q@ ¢0Q |

(A) Q648 6 JcoaE (A) ‘Uce’ Jeeay

(B) zVQBQee (B) ‘uce’ Jeaad
(C) A BeeR | (C) ZeRiael {4l 9Q
(D) Geady 6 2, _ (D) 6966 @2

151. ‘A’ Q% QP T8 geala *QUAIRN- @ 6QlITNY Y B 69T FRIF 6°R 6109

diea : n 4 24 -—-—.—__QQ.IQG‘I
(A) USIQ B QEAIR | A eaae
Q Fn
(B) G1® 6 SRWe ® 65
QAR B QIS

(9) ‘(_(,3) e
(D) Qe g%

= (D) Qaidea

152. gl fo1a AIf 98Q Z6S | 92 QMR
ok 156. ‘O’ 9e¥8 Qi@

Q9 99 040 @A : Lk
A) eef (A) QR
B) ad (B) uew
(C) %9 (C) V@AYo
(D) 269 (D) <Ay
-~
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157. ‘aieal’ Qal 9ed
Qs
(A) <QaR e
(B) <ae aldaye
/(C) QAR efqIe
(D) Qieq QIR
158. ‘eI’ age ‘gar
Q0o I
A) Qi
(B) <o
(C) eQla@
(D) cgedide
159. ‘09’a goae 59¢ Q :
A) *eqQIe
(B) {aIe
AC)
(D) goa

QeI

160. ‘QQIg’'Q AQIC 4R QI :

([(A) 7g8
(B) @60IQ
(C) @Pea
(D) &ia
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Q€ 161.

162.

e OO

€

163.

164.

(26)

g% Qaf 999 QQ :

(A) ee|dq

(B) 09°9
(C) «e]dd
(D) «edd

RAIARER ‘@7 A geyalse

QIRER PO £ 1T |

(A) VIR
(B) 1940
(C) 2o

(D) RINQ B 2R1Q
609 GAI QIaI 8 eaIeel 28 gRide

24, QI -
(A) dg

(B) adig ]al

AC) sgegide Qo

(D) @9 g Gai

‘@ eae @f QQ <Al Qe
aqieiQara |

(A) ande Gau

f(B) zandel {ai

(C) Jallcaqq

(D) 6@a6 9@
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165. QTR o Qe Je goya 169. ‘G214’ @ 3aQ10 RIS FRG T

TR QN
SA) QT A e
o | B) og0
= 5 © we
(D) 69 ge —
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(A) eI | 172. (A) @ad

(B) 98I i B) aad

(C) ge48 D ¢ e

© eRge (D) de8
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173. (A) QIR 179. (A) 2RIy
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174. (A) faQ1 180. (A) QLY62de

B) St o (B) adyQdie

C (© a&se C (0 adiedo
/(D) Sl (D) adyexde

175‘/(;\) 299 weael (94 Q7619 181-190) : O@ gFae5

B usd | QI8 /
Pi i - 181. ‘@nQ’ @ gé9e :
o (A) 2eR
| ‘ (B) udg
176. (A) ae@ie ~(C) usaid

C (B) eashe (D) 2eaa
_(C) uede g -— e
(D) zemIe e
| (A Qe
177. (A)  aggal - ' P\ (B) quee
. (B) agqal (C) 690!
_AC) auegal /(D) [SlaTa)
(D) zeqal
ok 183. ‘GR01’ @ goae -
178. (A) 2ried . sA) Qo
0 #(B) 2ueg A ,(B) Qo
(C) aye /(C) ago!
/D) zue (D) ©oge

NC - 3B/28 (28) Contd.



184. ‘1891’ Q gGae :

(A)
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A

o
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QgaQ

—

g
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(A)
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c121
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2

@1
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A) el
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